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1. Which of the following are true?

a) The true lower limit of the inclusive form class interval 10 - 20 is 10.

b) The true lower limit of the exclusive form class interval 10 - 20 is 10.

c) Each numerical figure in a data set is called an observation.

d) The number of times a particular observation occurs is called its frequency.

e) The difference between the true upper limit and true lower limit is called the class mark.

(i) {a,b,c} (ii) {a,b} (iii) {b,c,d} (iv) {e,c} (v) {a,ed}

2. Heights of 179 students (in cm) are given below. Identify the class mark table for the given histogram.
Y

No, of students
¥
[=]

1215]1325[1435]154.5[165.5[176.5 |

Height (in cm) s———3

(0 Height (in cm) [127(138|149|160|171 (i) Height (in cm) (127138149 |160(171
i ii
No. of students| 48 | 50 | 38 | 8 | 35 No. of students| 48 | 38 | 46 | 8 | 35

(i) Height (in cm) [127|138|149|160(|171 (iv) Height (in cm) |127|138|149|160(171
iii iv
No. of students| 48 | 35 | 50 | 8 | 38 No. of students| 48 | 38 | 50 | 8 | 35

Height (in cm) [127(138|149|160|171
No. of students| 48 | 33 | 50 | 8 | 35

(v)




The class mark of the class with frequency x is

Class-Interval | Frequency
20 - 30 15
31-41 14
42 - 52 27
53-63 29
64 - 74 X
(i) 68 (ii) 69 (iii)) 66 (iv) 71 (v) 70

If some random sample data is arranged in a frequency distribution table inexclusive formwith2 -8
" as the first class, then the observation 27 falls in which class?

(i) 26.5-31.5 (ii) 25-31 (iii) 27-33 (iv) 25.5-32.5 (v) 26-32

. Convert the discontinuous form of the class interval 31 - 33 to continuous form

(i) 30.5-34 (ii) 30-34 (iii) 30-33.5 (iv) 30.5-33.5 (v) 31-33

. Scores of 281 students are given below. Identify the class interval table for the given frequency polygon.

Nao, of students

(i)

(ii)

(iii)

¥
1100
|
|
----- 50
|
[
----- 80
|
|
----- 70
|
|
----- 60
|
[
----- 50
| '\\ o
e I TN i
| } Ir./
_____ 5 A N
| \ / \\
----- 20
| { \
_____ i / v/ \
/ \
pe
63.5] 695|755 815 | 875|935 995 [1055]1115]117.5[123.5] |
] i 30 ¢ i e o a3 i s i
SCOre st
Score 70-75|76-81/82-87|88-93/94-99|100-105(106-111(112-117
No. of students 48 41 6 33 44 43 29 35
Score 70-75|76-81(82-87|88-93|94-99|100-105|106-111|112-117
No. of students 48 41 1 33 46 43 29 35
Score 70-75|76-81|82-87|88-93(94-99|100-105|106-111|112-117
No. of students 48 35 6 33 46 43 29 41
Score 70-75|76-81|82-87|88-93/94-99|100-105|106-111|112-117
No. of students 48 41 6 33 46 43 29 35
Score 70-75|76-81/82-87|88-93/94-99(100-105(106-111(112-117
No. of students 48 41 33 6 46 43 29 35




Given below is the cost of living index for a particular year in a city. Identify the class interval table for the given

" histogram and frequency polygon on the same graph.

No. of weeks

(i)

(if)

(iii)

(iv)

Y
A
20
—18
16
—14
—12
10
10
—=8
S
A
2
125 13|2 13|9 14iﬁ 15|3 ITU lﬁlﬁ 1'|
Cost of living index {in rupees) s———n
Cost of living index (in rupees) | 132 - 139|139 - 146|146 - 153|153 -160|160 - 167
No. of weeks 10 6 6 5 7
Cost of living index (in rupees) (132 -139|139 - 146|146 - 153|153 -160|160 - 167
No. of weeks 10 8 6 5 7
Cost of living index (in rupees) | 132 - 139|139 - 146|146 - 153|153 -160|160 - 167
No. of weeks 10 7 6 5 6
Cost of living index (in rupees) |132 - 139|139 - 146|146 - 153|153 - 160|160 - 167
No. of weeks 10 6 1 5 7




Daily wages of 210 labourers (in X) are given below.
" Identify the class interval table for the given frequency polygon.

No. of labourers

(i)

(ii)

(iii)

(iv)

(v)

Y
100
|
|
----- 90
|
|
----- 80
|
|
----- 70
|
|
----- 60
|
----- 50
|
! /
—-40
| L
----- 30
| / \ \
_____ it AN \
| L LN \/ -
_____ 10 i
/ \
pes
228 1234 1240 246 [ 252 | 2581 264 | 270 {276 | 282 | 17|
EEisisiim e pE e e e i
Daily wage (in Rs)  s————ap
Daily wage (in Rs) | 234 - 240|240 - 246|246 - 252|252 - 258|258 - 264|264 - 270|270 - 276
No. of labourers 26 48 16 36 11 40 33
Daily wage (in Rs) | 234 - 240|240 - 246 | 246 - 252|252 - 258|258 - 264 | 264 - 270|270 - 276
No. of labourers 26 16 48 36 11 40 33
Daily wage (in Rs) | 234 - 240|240 - 246|246 - 252|252 - 258|258 - 264|264 - 270|270 - 276
No. of labourers 26 16 48 33 11 40 33
Daily wage (in Rs) | 234 - 240|240 - 246|246 - 252|252 - 258|258 - 264 | 264 - 270|270 - 276
No. of labourers 26 33 48 36 11 40 16
Daily wage (in Rs) |234 - 240|240 - 246|246 - 252|252 - 258|258 - 264|264 - 270|270 - 276
No. of labourers 26 16 45 36 11 40 33




9. Temperatures of 160 days (in °C) are given below. Identify the class interval table for the given histogram.
Y

No. of days

305/ 3751445515585 655725795

Temperature (in degree) s——

Temperature (in degree) |31 -37|38-44|45-51|52-58(59-65|66-72|73-79
No. of days 28 15 7 46 17 39 8

(i)

Temperature (in degree) |31 -37|38-44(45-51|52-58|59-65/66-72|73-79
No. of days 28 15 7 41 17 39 8

(if)

Temperature (in degree) |31 -37(38-44|45-51|52-58|59-65(66-72|73-79
No. of days 28 8 7 46 17 39 15

(iii)

Temperature (in degree) |31 -37|38-44|45-51|52-58|59-65(66-72|73-79
No. of days 28 15 3 46 17 39 8

(iv)

Temperature (in degree) |31 -37|38-44|45-51|52-58|59-65|66-72|73-79
No. of days 28 7 15 46 17 39 8

(v)




Daily wages of 204 labourers (in X) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No. of labourers

(i)

(ii)

(iii)

(iv)

(v)

¥
100
|
|
----- 50
|
[
----- 80
|
|
----- 70
|
|
----- 60
|
[
----- 50
|
[
—40
|
|
----- 30
|
[
----- 20
|
|
----- 10
e
2235|229.512355/2415/2475/2535259.5{2655(271.5 2775 | |
[EiiEHE e e s ey i pim sm | an oE e
Daily wage(in Rs) s—a
Daily wage(in Rs) | 230 - 235|236 - 241 | 242 - 247 | 248 - 253|254 - 259|260 - 265|266 - 271
No. of labourers 39 48 50 18 24 9 16
Daily wage(in Rs) | 230 - 235|236 - 241|242 - 247|248 - 253|254 - 259|260 - 265|266 - 271
No. of labourers 39 48 50 14 24 9 16
Daily wage(in Rs) | 230 - 235|236 - 241|242 - 247 | 248 - 253|254 - 259|260 - 265|266 - 271
No. of labourers 39 16 50 18 24 9 48
Daily wage(in Rs) 230 - 235 236 - 241|242 - 247|248 - 253|254 - 259|260 - 265|266 - 271
No. of labourers 39 48 a7 18 24 9 16
Daily wage(in Rs) | 230 - 235|236 - 241 | 242 - 247 | 248 - 253|254 - 259|260 - 265|266 - 271
No. of labourers 39 50 48 18 24 9 16

The mid value of the class with frequency x is

11.

Class-Interval | Frequency
9-14 16
15-20 28
21-26 25
27 - 32 3
33-38 X
(i) — (i) —— (iii)) — (iv) 36

(v)

12. If the upper and lower limit of class interval are 33 and 25 respectively, then the class interval is

(i) 25-33 (ii) 25-33.5 (iii) 25.5-32.5 (iv)

24.5-33.5 (v) 24.5-33




Temperatures of 191 days (in °C) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

2353451455 1565|675 785|895 [1005]1115]1225

Temperature (in degree) s——p

Temperature (in degree) |35-45(46-56|57-67|68-78|79-89|90-100|101-111

i
M No. of days 12 40 11 40 31 50 7

Temperature (in degree) |35 -45|46-56|57-67(68-78|79-89|90-100/101-111
No. of days 12 40 8 40 31 50 7

(ii)

Temperature (in degree) |35-45(46-56|57-67|68-78|79-89(90-100|101-111

iii
(i) No. of days 12 11 40 40 31 50 7

Temperature (in degree) |35-45|46-56|57-67|68-78|79-89|(90-100|101-111
No. of days 12 40 11 37 31 50 7

(iv)

Temperature (in degree) |35 -45|46-56 |57 -67|68-78|79-89|90-100|101-111

%
V) No. of days 12 7 11 40 31 50 40




14. Heights of 263 students (in cm) are given below. Identify the class interval table for the given frequency polygon.

o

-100

No, of students

ot
| T

1151121 |

127:41133

F 39HEE

145

16917

Height (in cm}

Height (in cm)

121 -127

127 - 133

133-139

139 -145

145 - 151

151 - 157

157 - 163

163 - 169

No. of students

7

23

47

32

44

16

40

50

Height (in cm)

121 - 127

127 - 133

133-139

139 - 145

145 - 151

151 -157

157 - 163

163 - 169

No. of students

7

23

43

32

48

16

40

50

Height (in cm)

121 -127

127 - 133

133-139

139 - 145

145 - 151

151 - 157

157 - 163

163 - 169

No. of students

7

50

47

32

48

16

40

23

Height (in cm)

121 - 127

127 - 133

133-139

139 -145

145 -151

151 - 157

157 - 163

163 - 169

No. of students

7

23

47

32

48

16

40

50

Height (in cm)

121 -127

127 - 133

133-139

139 - 145

145 -151

151 - 157

157 - 163

163 - 169

No. of students

7

23

32

47

48

16

40

50




The following cumulative frequency table represents which of the following frequency distribution

Class-Interval | Cumulative Frequency
32-39 67
39-46 60
46 - 53 51
53-60 35
60 - 67 30
67 - 74 15

Class-Interval |32 -39|39-46(46-53|53-60|60-67|67-74

i
M Frequency 7 9 19 5 15 15

Class-Interval (32 -39|39-46|46-53|53-60(60-67|67-74
Frequency 7 9 16 5 15 15

(ii)

Class-Interval |32 -39|39-46 46-53|53-60(60-67|67-74

iii
(i Frequency 7 15 16 5 15 9

Class-Interval |32 -39|39-46|46-53|53-60|60-67|67-74
Frequency 7 9 16 10 15 15

(iv)

Class-Interval |32 -39|39-46 (46 -53|53-60|60-67 |67 -74
Frequency 7 16 9 5 15 15

(v)




16. ldentify the class interval table for the given histogram.

Frequency e——>»

(if)

(iii

(iv

(v)

Y.
1504
|
S
F--135
|
ﬁ-1'|20
i
¢1|l}5
50}
|
R B
75
|
60
45
|
=30 ma s,
|
FHHE
15
905|935 96,5 99.5 [102.5{105.5{108.5{111.5| - |
Class-Interval  s——a—x
Class-Interval |91 -93|94-96|97-99|/100-102|103-105|106-108|109-111
Frequency 39 51 16 31 80 55 133
Class-Interval |91 - 93|94 -96 |97 -99|100-102|103-105(106-108|109-111
Frequency 39 133 16 28 80 55 51
) Class-Interval |91 -93|94-96 (97 -99|100-102|103-105(106 - 108|109 - 111
Frequency 39 133 16 31 80 55 51
) Class-Interval |91 -93/94-96 (97 -99|100-102|103-105|106-108|109-111
Frequency 39 16 133 31 80 55 51
Class-Interval |91 -93|94-96|97-99/100-102|103-105|/106-108|109-111
Frequency 39 133 12 31 80 55 51




17. Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

/
—100

—380

Frequency e——3»
]
- @
=] =1

5 X
235 315 395 475 555 635 715 795 875 955 1035

Class-Interval s————x

Class-Interval |32 -39|40-47|48-55|56-63|64-71|72-79|80-87|88-95

i
0 Frequency 81 51 88 13 62 12 48 55

Class-Interval |32 -39|40-47|48-55|56-63|64-71|72-79|80-87|88-95
Frequency 81 51 13 88 64 12 48 55

(if)

Class-Interval |32 -39|40-47|48-55|56-63|64-71|72-79|80-87|88-95

iii
(i) Frequency 81 51 13 88 62 12 48 55

Class-Interval |32 -39(40-47|48-55|56-63|64-71|72-79|80-87|88-95
Frequency 81 55 13 88 62 12 48 51

(iv)

Class-Interval |32 -39|40-47|48-55|56-63|64-71|72-79|80-87|88-95

%
W) Frequency 81 51 15 88 62 12 48 55




Ages of 202 students (in years) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of students
v
L]

Age (in years) s——ap

Age (in years) |17 -27|27-37|37-47|47-57|57-67|67-77|77-87

M "No. of students| 33 42 11 18 8 39 47

Age (in years) |17 -27|27-37|37-47|47-57|57-67|67-77|77 -87
No. of students 33 42 15 18 8 39 47

(ii)

Age (in years) |17 -27|27-37|37-47|47-57|57-67|67-77|77-87

iii
(i) No. of students 33 42 15 23 8 39 47

Age (in years) |17 -27(27-37|37-47|47-57|57-67|67-77|77 -87
No. of students 33 47 15 18 8 39 42

(iv)

Age (in years) |17 -27|27-37|37-47|47 -57|57 -67|67-77|77 - 87

V) I'No. of students| 33 15 42 18 8 39 47




19. Daily wages of 197 labourers (in X) are given below. Identify the class mark table for the given histogram.
¥

No, of labourers
n
(=]

214 [ 220 | 226 | 232 | 238 | 244 | 250 | 256 | 262 |

Daily wage (in Rs)  s——a—p

Daily wage (in Rs) |217|223|229|235|241|247|253|259
No. of labourers | 7 | 21 |40 | 31 | 6 | 22 | 48 | 22

(i)

Daily wage (in Rs) [217 223|229 (235|241 |247|253|259
No. of labourers 7 | 2214031 | 6 |22 |48 |21

(i)

Daily wage (in Rs) | 217 (223 (229|235|241|247 253|259
No. of labourers 7 |22 144 |31 | 6 | 22|48 | 21

(iii)

Daily wage (in Rs) [217|223|229 235|241 |247|253|259
No. of labourers 7 | 2231|140 | 6 | 22|48 | 21

(iv)

Daily wage (in Rs) |217|223|229|235|241|247|253|259
No. of labourers | 7 | 22 |40 | 31| 8 | 22 | 48| 21

(v)




Temperatures of 79 days (in °C) are given below. Identify the frequency distribution table for the given 'less than
' ogive.

20.

No. of days

MRV
| .

e

75 385 495 605 715 825 935 1045

Temperature (in degree] s———p

Temperature (in degree) |28-38(39-49(50-60|61-71|72-82|83-93(94-104
No. of days 8 9 15 11 5 12 19

Temperature (in degree) |28-38|39-49(50-60(61-71|72-82|83-93|94-104
No. of days 8 9 15 7 5 12 19

Temperature (in degree) |28-38(39-49|50-60|61-71|72-82(83-93(94-104
No. of days 8 19 15 11 5 12 9

Temperature (in degree) |28 -38|39-49/50-60|61-71|72-82|83-93|94-104
No. of days 8 9 10 11 5 12 19

Temperature (in degree) |28-38(39-49(50-60|61-71|72-82|83-93(94-104
No. of days 8 15 9 11 5 12 19




Scores of 140 students are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

Y
-1|30
|
----- 90
|
|
----- 80
|
|
----- 70
|
g 160
[, |
2 |
2 50
5
g 1
..... 5
|
|
----- 20
|
|
----- 10
%
74.5184.5194.51104.5/114.5/124 5{134.5[144 5[154.5| - |
i i i i i e i i i i
score a—m———n
(i Score 85-94|95-104/105-114115-124|125-134|135-144
i
No. of students 17 33 11 34 22 27
(i) Score 85-94(95-104|105-114|115-124|125-134|135- 144
ii
No. of students 17 33 7 34 22 27
(i) Score 85-94|95-104|105-114|115-124(125-134|135-144
iii
No. of students 17 33 7 36 22 27
(iv) Score 85-94(95-104|105-114|115-124|125-134|135-144
iv
No. of students 17 27 7 34 22 33
Score 85-94|95-104/105-114|115-124|125-134|135-144

No. of students| 17 7 33 34 22 27




22. Scores of 207 students are given below. Identify the class mark table for the given histogram.

kg
-100
|
|
----- 90
|
----- 80
|
i
----- 70
|
2 60
@ |
g |
A 50
=
S |40
|
..... 50
|
|
----- 20
|
|
----- 10 .
. X
41 494 5?65 ?3 81 89 9}‘ 1055
{355 12 12 (31 1 i S 3 U L
5core  s—an
(i Score 45|53|61|69(77|85|93(101 (i) Score 45|53(61|(69|77(85(/93|101
i ii
No. of students |22 15|38 (1734|4819 | 14 No. of students |22 |15|17|38|34|48|19| 14
Score 45|53|61|69|77|85|93|101

iii
(i) No. of students |22|14(38|17(34|48|19| 15

Score 45|53|61|69|77|85|93|101

iv
(iv) No. of students |22 |15|38(17|30(48|19| 14

Score 45|53|61|69|77|85|93|101

\"
W) No. of students |22 |15/40|17|34|48|19| 14




Given the number of doctors working in government hospitals in a city in various age groups. Identify the class
" interval table for the given histogram and frequency polygon on the same graph.

4
| 50 49

No. of doctors
1
[¥]

195 265 335 405 475 545 615 685 755 825 89,

Age (in years) s——p

Age (in years) (27 -33|34-40/41-47|48-54|55-61|62-68|69-75|76-82

) "No. of doctors| 42 10 39 16 49 28 32 17

Age (in years) |27 -33|34-40|41-47|48-54|55-61/62-68(69-75|76-82

() "No. of doctors| 42 10 16 39 49 28 32 17

Age (in years) |27 -33|34-40|41-47|48-54|55-61|62-68|69-75|76-82

iii
(i) No. of doctors 42 17 39 16 49 28 32 10

Age (in years) |27 -33|34-40|41-47|48-54|55-61|62-68|69-75|76-82

(V) "No. of doctors| 42 10 39 16 51 28 32 17

Age (in years) |27 -33|34-40|41-47|48-54|55-61(62-68|69-75|76-82

) "'No. of doctors| 42 10 42 16 49 28 32 17

24. The class boundaries of 17 - 21 which is in exclusive form are

(i) 17.5-20.5 (ii) 16.5-21 (iii) 17-21.5 (iv) 16.5-21.5 (v) 17-21

The mid value of the class with frequency x is

Class-Interval |Frequency
6-16 25
25. 16 - 26
26 - 36
36 - 46 19
46 - 56 18

(i) 18 (ii) 20 (iii) 21 (iv) 23 (v) 22



Assignment Key

1) (iii) 2) (iv) 3) (ii) 4) (v) 5) (iv) 6) (iv)
7) (i) 8) (ii) 9) (i) 10) (i) 11) (v) 12) (i)
13) (i) 14) (iv) 15) (ii) 16) (iii) 17) (iii) 18) (ii)
19) (ii) 20) (i) 21) (ii) 22) (i) 23) (i) 24) (v)
25) (iii)
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